

$$\cos^2 x = 1 - \sin^2 x \Rightarrow 1 - \sin^2 x = \sin^2 x - 1$$

$$1 - \sin^2 x + \sin^2 x - 1 \Rightarrow \sin^2 x + 1 - \sin^2 x - 1$$

$$(\sin x + 1)(\sin x - 1) \quad \sin x = \frac{1}{2}$$

$$\frac{1}{2} = -1 \times \quad \frac{1}{2} \quad \alpha = 2k\pi \pm \frac{\pi}{6}$$

$$\cos 2x + \cos x - 2 = 0$$

$$2\cos^2 x - 1 + \cos x - 2 = 2\cos^2 x + \cos x - 3$$

$$\cos^2 x + \cos x - 2 = (\cos x + 2)(\cos x - 1)$$

$$\cos x = \frac{1}{2} \Rightarrow 2k\pi \pm \frac{\pi}{3}$$

$$\sin^2 x - \cos^2 x = -\cos 2x$$

$$-\cos 2x = \sin^2 x$$

$$2\cos^2 x + 2\sin x \cos x = 1$$

$$2\cos^2 x = 1 + \cos 2x$$

$$1 + \cos 2x + \sin^2 x = 1$$

$$\cos 2x + \sin^2 x = 0$$

$$\cos 2x = -\sin^2 x$$

$$\frac{\cos x}{\sin x} \times (2\cos x + 1) = \frac{1}{\sin x}$$

$$\frac{2\cos^2 x + \cos x}{\sin x} = \frac{1}{\sin x} \Rightarrow 2\cos^2 x + \cos x = 1$$

$$2\cos^2 x + \cos x - 1 = 0 \Rightarrow \cos^2 x + \cos x - 1 = 0$$

$$(\cos x + 2)(\cos x - 1)$$

$$\frac{1}{2} = -1 \quad \frac{1}{2}$$

$$2k\pi \pm \frac{\pi}{6}$$

$$2k\pi \pm \pi$$

$$2\sin^2 x - \frac{\sin x \cos x}{\frac{1}{2}} + \cos^2 x = 2$$

$$\sin^2 x - \frac{1}{2} \sin 2x + 1 = 2 \Rightarrow \sin^2 x - \frac{1}{2} \sin 2x - 1 = 0$$

$$\Delta = \left(-\frac{1}{2}\right)^2 - 4\left(-\frac{1}{2}\right)(-1) = \frac{1}{4} - 2 = -\frac{7}{4}$$

نشد جواب نزار

$$\frac{\sin^2 x + \sin^2 x}{\sin^2 x} - \sin^2 x = \cos^2 x \Rightarrow \frac{\sin^2 x}{\sin^2 x} + 1 - \sin^2 x = \cos^2 x$$

$$\frac{\sin^2 x}{\sin^2 x} + \cos^2 x = \cos^2 x \Rightarrow \frac{\sin^2 x}{\sin^2 x} = 0$$

$$\sin^2 x = 0$$



فرضیات

$$\frac{\sin \frac{x}{y}}{1 + \cos \frac{x}{y}} = \frac{1}{\sin \frac{x}{y}} + \cot \frac{x}{y} \Rightarrow \frac{\sin \frac{x}{y}}{1 + \cos \frac{x}{y}} = \frac{1 + \cos \frac{x}{y}}{\sin \frac{x}{y}}$$

$$1 + \cos^2 \frac{x}{y} + y \cos \frac{x}{y} = \sin^2 \frac{x}{y} \Rightarrow \cos^2 \frac{x}{y} - \sin^2 \frac{x}{y} + 1 + y \cos \frac{x}{y} = 0$$

$$\cos^2 x + y \cos \frac{x}{y} + 1 = 0$$

F

V

$$\frac{1 + \tan x (1 + \tan x)}{1 - \tan x (1 + \tan x)} = \tan^2 x \Rightarrow \frac{(1 + \tan^2 x)}{(1 - \tan^2 x)} = \tan^2 x$$

A

$$\sqrt{1 + \sin^2 x} = \sqrt{r} \cos^2 x \Rightarrow 1 + \sin^2 x = y \cos^2 x$$

$$\sin^2 x + \cos^2 x + \sin^2 x = y \cos^2 x \Rightarrow \sin^2 x = y \cos^2 x - \cos^2 x - \sin^2 x$$

$$\sin^2 x = \cos^2 x - \sin^2 x \Rightarrow \sin^2 x = \cos^2 x$$

9

$$\sin^2 x - \cos^2 x = (\sin^2 x + \cos^2 x) (\sin^2 x - \cos^2 x)$$

$$-\cos^2 x = 1 \Rightarrow \cos^2 x = -1$$

$$\sin^2 x - \cos^2 x = -1$$

$$(\sin^2 x - \cos^2 x) (\sin^2 x + \sin^2 x \cos^2 x + \cos^2 x) = -1$$

$$(\sin^2 x - \cos^2 x) (1 + \frac{1}{y} \sin^2 x) = -1$$

1.